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QUESTION 1

Refer to the exhibit. 

You have plotted the distribution of savings account sizes for your bank. How would you proceed, based 

on this distribution? 

A. The data is extremely skewed. Replot the data on a logarithmic scale to get a better sense of it. 

B. The data is extremely skewed,but looks bimodal; replot the data in the range 2,500-10,000 to be sure. 

C. The accounts of size greater than 2500 are rare,and probably outliers. Eliminate them from your future analysis. 

D. The data is extremely skewed. Split your analysis into two cohorts: accounts less than 2500,and accounts greater
than 2500 

Correct Answer: A 

 

QUESTION 2

A disk drive manufacturer has a defect rate of less than 1.5% with 98% confidence. A quality assurance team samples
1000 disk drives and finds 14 defective units. Which action should the team recommend? 
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A. The manufacturing process is functioning properly and no further action is required 

B. A larger sample size should be taken to determine if the plant is operating correctly 

C. A smaller sample size should be taken to determine if the plant is operating correctly 

D. There is a flaw in the quality assurance process and the sample should be repeated 

Correct Answer: A 

 

QUESTION 3

Before you build an ARMA model, how can you tell if your time series is weakly stationary? 

A. There appears to be a constant variance around a constant mean. 

B. The mean of the series is close to 0. 

C. The series is normally distributed. 

D. There appears to be no apparent trend component. 

Correct Answer: A 

 

QUESTION 4

You do a Student\\'s t-test to compare the average test scores of sample groups from populations A and B. Group A
averaged 10 points higher than group B. You find that this difference is significant, with a p-value of 0.03. What does
that mean? 

A. There is a 3% chance that you have identified a difference between the populations when in reality there is none. 

B. The difference in scores between a sample from population A and a sample from population B will tend to be within
3% of 10 points. 

C. There is a 3% chance that a sample group from population A will score 10 points higher that a sample group from
population B. 

D. There is a 97% chance that a sample group from population A will score 10 points higher that a sample group from
population B. 

Correct Answer: A 

 

QUESTION 5

What is LOESS used for? 

A. It fits a smoothed curve to scatterplot data,to give a general sense of the data\\'s behavior. 

B. It is a significance test for the correlation between two variables. 
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C. It plots a continuous variable versus a discrete variable,to compare distributions across classes. 

D. It is run after a one-way ANOVA,to determine which population has the highest mean value. 

Correct Answer: A 
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